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%g Fr7Eih HES o A MiEM mzEyY FEER
HSHT R 41 2.40m
111 JFpéié 06-A02-01  [JEFHIN [=Ei 145.401 — #0597
% HABR : R7/3/31
HSHT R 41 2.40m
112 JFpéié 06-A02-02 |[[F¥4FN B 155.674 — [#%E 30,597
% HABR : R7/3/31
HSHT R 41 2.40m
113 JFpéié 06-A02-03 [JRH#FL B 157.320 — |5 20.500
% H HABR : R7/3/31
B ST Ao 5 - Rilt%#1 3.65m,22~48cm
114 B 06-A02-04 |{EEMN(FETY) 891 217.747 0.244 | o R7/3/31
B ST AAD_ - Rilt%#1 3.65m,22~46cm
115 B 06-A02-05 |FKF<Y 883 240.349 0.272 |y 100" R7 /3,31
B ST CAAD_ 5 - Rilt%#4 3.65m,13~20cm
116 B 06-A02-06 |{EEMN(FETY) 1,036 125.241 0.121 | inme Ry /3/31
=RNi) CAM_ . RAHA 3.65m,13~20cm
117 B 06-A02-07 |FKTY 488 60.073 0.123 | i same Ry /3,31
HSHT v . o RE{%#F 3.65m,14~48cm
118 B 06-A02-08 |{EEMN(ITY<TY) 412 97.785 0.237 |igriinme Ry /3/31
HSHT R 41 2.40m
119 :Fnéié 06-A03-01 |FH4N B 200.005 — | & %0597
% HABR : R7/3/31
HSHT R 41 2.40m
120 :Fnéié 06-A04-01 |FHHN B 167.408 — | E %0597
% HABR : R7/3/31
HSHT R 41 2.40m
121 :Fnéié 06-A04-02 |[FHFN B 175.762 — | E %0597
% HABR : R7/3/31
HSHT R 41 2.40m
122 :Fnéié 06-A04-03 |FHHN B 129.969 — | E %0597
% H HABR : R7/3/31
=) B4 44 2.40m
B ST 06-A04-04
123 - [RFEHN B 103.261 — | E %0597
F* 06-A04-05 i H HABR - R7/3/31
HSHT R 41 2.40m
124 JFpéié 06-A05-01 [JRH#L B 102.120 — |5 20.500
% H HABR : R7/3/31
HSHT R 41 2.40m
125 JFpéié 06-A05-02 [JRH#L B 106.536 — [#E 20.500
% HABR : R7/3/31
=) B4 44 2.40m
== 06-A05-03
126 - [RFEHL B 116.952 — |[#28 5£0.500
F* 06-A05-04 i H HARR - R7/3/31
“FEERET o - 4%+ 3.65m,22~42cm
127 = 06-H02-05 |kK<Y 735 190.130 0.259 |y 1530 Ry /3,31
“FEERET Lno. e 4% 4+ 3.65m,14~20cm
128 = 06-H02-06 |FK<Y 211 27.487 0.130 | 1 same Ry /3,31
129 | TIET 06-H02-07  [{EEHN(FEZY) 283 36244 | 0.12g |[AEEH 365m.14~200m
—it=F : : i H BARR - R7/3/31
130 | TIET 06-H02-08  [{EEHN(RE=Y) 47| 110906 |  0.234 |FIEH 365m.20~4d4om
—it=F : : i H BARR - R7/3/31
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=

SEERHT 06-105-01 5 S RE{%#F 3.65m,13~34cm
131 i 06-105-02 BEMN(R=Y) 366 59.640 0.163 |iguidnmm Ry /3/31

“FEERET o - 4%+ 3.65m,13~20cm
132 s 06-105-03 |FR=Y 381 43.901 0.115 | e n7 /331

“FEERET o e {4+ 3.65m,22~36cm
133 s 06-105-04 |rR=Y 262 59.060 0.225 |y 100 m7 /3,31

& &t 6,422 2,828.971




